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Part One % — $84& (50%)
I. Multiple Choices : (- 48 2% » ¥ 22%)
1. If there is an ethical conflict concerning your direct supervisor, when is it appropriate to contact
authorities or individuals NOT employed by the organization?
(A) when there is a personal conflict
(B) when your supervisor is about to receive a bonus
(C) when there is a clear violation of the law
(D) when you are about to be terminated
2. Which of the following statements about the direct/indirect cost classification is NOT true?
(A) Indirect costs are always traced.
(B) Indirect costs are always allocated.
(C) The design of operations affects the direct/indirect classification.
(D) The direct/indirect classification depends on the choice of cost object.
3. Which of the following statements about determining the breakeven point is FALSE?
(A) Operating income is equal to zero.
(B) Contribution margin — fixed costs is equal to zero.
(C) Revenues equal fixed costs plus variable costs.
(D) Breakeven revenues equal fixed costs divided by the variable cost per unit.
4. A company would use multiple cost-allocation bases:
(A) if managers believed the benefits exceeded the additional costs of that costing system.
(B) because there is more than one way to allocate overhead.
(C) because this is a simpler approach than using one cost allocation base.
(D) if managers believe that using multiple cost-allocation bases is the only acceptable method.
5. The unique feature of an ABC system is the emphasis on:
(A) costing individual jobs. (B) department indirect-cost rates.
(C) multiple-cost pools. (D) individual activities.
6. Rolling budgets help management to:
(A) better review the past calendar year. (B) deal with a 5-year time frame.
(C) focus on the upcoming budget period. (D) rigidly administer the budget.
7. A favorable price variance for direct manufacturing labor might indicate that:
(A) employees were paid more than planned. (B) budgeted price standards are too tight.
(C) underskilled employees are being hired. (D) an efficient labor force.
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8. An unfavorable fixed overhead spending variance indicates that:
(A) there was more excess capacity than planned.
(B) the price of fixed overhead items cost more than budgeted.
(C) the fixed overhead cost-allocation base was not used efficiently.
(D) the denominator level was more than planned.
9. Absorption costing is required for all of the following except:
(A) generally accepted accounting principles. (B) determining a competitive selling price.
(C) external reporting to shareholders. (D) income tax reporting.
10. Which of the following does NOT represent a cause-and-effect relationship?
(A) Material costs increase as the number of units produced increases.
(B) A company is charged 40 cents for each brochure printed and mailed.
(C) Utility costs increase at the same time that insurance costs increase.
(D) It makes sense that if a complex product has a large number of parts it will take longer to assemble
than a simple product with fewer parts.

11. To complete the first setup on a new machine took an employee 100 minutes. Using an 80%
cumulative average-time learning curve indicates that the second setup on the new machine is
expected to take:

(A) 80 minutes (B) 60 minutes (C) 40 minutes (D) 30 minutes

Il. Problem (28%)

1. Wind Corporation produces a special line of basketball hoops. Wind Corporation produces the
hoops in batches. To manufacture a batch of the basketball hoops, Wind Corporation must set up the
machines and molds. Setup costs are batch-level costs because they are associated with batches
rather than individual units of products. A separate Setup Department is responsible for setting up
machines and molds for different styles of basketball hoops.

Setup overhead costs consist of some costs that are variable and some costs that are fixed with
respect to the number of setup-hours. The following information pertains to January 2005.

Static-budget ~ Actual
Amounts Amounts

Basketball hoops produced and sold 30,000 28,000
Batch size (number of units per batch) 200 250
Setup-hours per batch 5 4
Variable overhead cost per setup hour $10 $9
Total fixed setup overhead costs $22,500 $21,000

Required (10%0):
a. Calculate the efficiency variance for variable setup overhead costs.
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b. Calculate the spending variance for variable setup overhead costs.
c. Calculate the flexible-budget variance for variable setup overhead costs.
d. Calculate the spending variance for fixed setup overhead costs.
e. Calculate the production-volume variance for fixed setup overhead costs.

2§51 2 P2011#67 2 ik FAlheT
H > % 7 L S 1

B e B 5 (70%% 1) 2,000  $12,000  $16,800
L E N 16,000 80,000 130,000
CHE $92,000  $146,800
A 10,000
preUs 4,000

PR Bl B BE T - SR~ o R BREERE Y 4o 1 4R ~ 50%PF 0 1 AF R B R4 52 10% (BGR
RRSEHRE A FE AR AN FHRARAS R IR 560% -
BIEIGFRABANZHYFZAP 6 2 F 3 2HL H - (18%)

Part Two % = 284 (50%)
. E#4 : (£ 1042 > £ 30%)
Juice’s Preserves currently makes jams and jellies and a variety of decorative jars used for
packaging. An outside supplier has offered to supply all of the needed decorative jars. For this
make-or-buy decision, a cost analysis revealed the following avoidable unit costs for the decorative

jars:

Direct materials $0.25
Direct labor 0.03
Unit-related support costs 0.10
Batch-related support costs 0.12
Product-sustaining support costs 0.22
Facility-sustaining support costs 0.28

Total cost per jar $1.00

1. The relevant cost per jar is
(A) $0.28 per jar. (B) $0.38 per jar. (C) $0.72 per jar. (D) $1.00 per jar.

2. The maximum price that Juice’s Preserves should be willing to pay for the decorative jars is
(A) $0.28 per jar. (B) $0.38 perjar. (C) $0.72 per jar. (D) $1.00 per jar.

Juice Corporation manufactures water toys. It plans to grow by producing high-quality water
toys at a low cost that are delivered in a timely manner. There are a number of other manufacturers
who produce similar water toys. Juice believes that continuously improving its manufacturing
processes and having satisfied employees are critical to implementing its strategy.
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3. Juice’s strategy is

(A) product differentiation. (B) downsizing. (C) reengineering. (D) cost leadership.
4. To further company strategy, measures on the balanced scorecard would MOST likely include

(A) number of process improvements. (B) price premium earned.

(C) longer cycle times. (D) an increase in operating income from increased profit margins.

The Juice Corporation processes a liquid component up to the split-off point where two
products, Mr. DirtOut and Mr. SinkClean, are produced and sold. The following material was
collected for the month of January. There was no beginning inventory.

Direct materials processed: 250,000 gallons (242,500 gallons of good product)
Production: Mr. DirtOut 147,500 gallons

Mr. SinkClean 95,000 gallons
Sales: Mr. DirtOut 140,500 at $110 per gallon

Mr. SinkClean 91,000 at $ 100 per gallon

The cost of purchasing 250,000 gallons of direct materials and processing it up to the split-off
point to yield a total of 242,500 gallons of good product was $380,000.

5. What are the physical-volume proportions to allocate joint costs for Mr. DirtOut and Mr. SinkClean,
respectively?
(A) 59.00% and 41.00% (B) 60.82% and 39.18%
(C) 39.18% and 60.82% (D) 59.79% and 40.21%

6. When using a physical-volume measure, what is the approximate amount of joint costs that will be
allocated to Mr. DirtOut and Mr. SinkClean?
(A) $231,116 and $148,884 (B) $224,200 and $155,800
(C) $227,202 and $152,798 (D) $230,626 and $149,374

7. When using the physical-volume method, what is Mr. DirtOut's approximate production cost per unit?
(A) $1.52 (B) $1.54 (C) $1.57 (D) $1.61
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